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Please check that this question paper contains 21 printed pages + 1 Map.
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Please check that this question paper contains 37 questions.
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3 31T % A o IT-TFEehT W hIg IT 2T fora|
15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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[HETfeTIET 143571 %1 Sqae 91T 37K 37T GTerT #org -

3G Jo7-97 7 37 797 & @t 397 371437 8

J57-97 B: GUSI 7 [391f57 & - @S &, @, 7, T, T Ud )/

TUE & - J¥ G&IT 1 & 20 TgAFHTT THR & 7 81 4% J7 1 37 F1 &/

GUE & - J57 T&IT 21 T 24 37 TG-IF0T THR & Jo7 &/ F4% F7 2 37H] F1

8/ 57 1 71 3T 40 F1531 8 e 787 for@r s wi/zw)

5. @US T - F¥ G&IT 25 G 29 TY-IRIT JFR & J97 8| Je4d 97 3 3751 1 81 57
51 T I 60 I155] @ e &7 for@r i1 =nau)

6. U T - J97 G&IT 30 G 33 S5-3I FFR & J97 8/ Fe9% J57 5 371 &7 81 57
9] &7 I 120 1551 8 371 T8 fer@r 77 F1z0)

7. UG - Y37 G&IT 34 G 36 G~ TR/ Gld— TR 357 8, 577 3 39-337
&) Y% o7 4 HH FT 8/

8. @UE T - F¥T &I 37 HHTAT FI9eT ATITRAT T97 &, 578 g1 977 8- 37(i)
ST (2 37%) TR 37(ii) [T (3 37%) | 3T To7 & FT 5 3% &/

9. 3GF AR, I 7 1@ FIEET RISl & 177 g aor Artad sl STeika
1 @ T W T 3 J97 197 T &1 37 o1 & IR dacT FIEaned @i &

N oL Mo~

@
@UE - &
(Sgfarehedta we) (201 = 20)
1. Toom & Fafafaa @e i gfeu qen favafaene 9 e usu o o a1
& A& § Gafed gal foehed 1 =3 S| 1

(i) ITIHYIH % 3= |

(il) Torcsm ® 3= f3em TR A o IR
(ili) Tad=raT ITfed o 3T |

(iv) 7= USTTR % ITa& |

forehey :

(a) had (i), (i) 3 (iii) T B

(b) Had (ii), (iii) 3 (iv) T &

(c) Had (i), (i) 3 (iv) &I B)

(d) Fad (i), (iii) 3 (iv) T B
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GENERAL INSTRUCTIONS :
Read the following instructions carefully and follow them :

1.
2.
3.

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — question number 1 to 20 are multiple choice type questions. Each
question carries 1 mark.

Section B — question number 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed 40
words.

Section C — question number 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed 60
words.

Section D — question number 30 to 33 are Long Answer(LA) type questions.
Each question carries 5§ marks. Answer to these questions should not exceed
120 words.

Section E — question number 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

In Section F — question number 37 is Map skill based question with two parts —
37(i) History (2 marks) and 37(ii) Geography (3 marks). This question carries
total 5 marks.

In addition to this, NOTE that a separate question has been provided for the
Visually Impaired Candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by the Visually Impaired Candidates
only.

SECTION - A
(Multiple Choice Questions) (20x1 =20)
Read the following developmental goals and choose correct option of
goals related to a student studying in university. 1

(i) Good opportunities for research.

(ii) Opportunities to pursue higher education abroad.
(iii) Opportunities for independence.

(iv) Opportunities for good employment.

Options :

(a) Only (i), (ii) and (iii) are correct.

(b) Only (ii), (iii) and (iv) are correct.

(¢) Only (i), (ii) and (iv) are correct.

(d) Only (i), (iii) and (iv) are correct.
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feforea =ikt o forehm = Svalertor st siga TwTfad for 2| Fefarfiea 5 &
ST HIH-UT T AT ] 7

(a) HIR ATTE H Iig

(b) E= T HifEd ug

(c) QI ES GASTh

(d) -7 1 efieft Tif

3. U % FHTREd |l Sl SaHYEe qfey 3R 01 o Sq=Tie |ial 8 Fara
el faeheq o1 ==F HIfSTg|

(i) AR Sh (i) SHRER
(iii) THR (iv) TEHR
forepey .
(@) (i) 3 (iii) T B (b) (i) 3 (iv) =& &)
(c) (i) 3 (ii) =& &) (d) (i) 3 (iii) T B
4. Tk T 1 qfd o forg @2t forerey 1 = iR -
BEC T AHES

o MU, fodEe AT qaEd | e,
- GIfSd o TENSA &Ah TSTTR Tfcfarfert st Sepfd
foremey
(a) @RS Tifafafern st yepfa
(b) T Tifafarfern i wepfa
(c) IcuTed Tfafafert &t Fehfd
(d) ORI iafafert it g
5. AITEAT & &Rl o HeH H HfiRad faen # @ faum fawmew =1 ==
EASINE
(a) UM, STEaAL, HIcA]
(b) T, Fierh, Fehre
(c) IShfRR, Srher, foham
(d) ¥, Reren, Fsha
6. fova ser it fommm fard faferfaa § @ fore MR © R i STt © 7
(a) fd =aRE 3
(b) weTEed HaTq
(c) G&dn
(d) Tt
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The growth of digital technology has greatly influenced globalization.
Which of the following is its main benefit ?

(a) Increased Communication Cost

(b) Limited Access to Information

(c) Enhanced Connectivity

(d) Slower Transaction Speed

Read the following sources of loan carefully and choose the correct option
related to formal sources of credit.

(i) Commercial Bank (ii)) Landlords
(iii) Government (iv) Money Lender
Options :

(a) (i) and (iii) are correct. (b) (ii) and (iv) are correct.
(¢) (i) and (ii) are correct.  (d) (ii) and (iii) are correct.

Choose the correct option to fill the blank :

Sector Criteria Used

* Primary, Secondary and Tertiary | .

* Organized and Unorganized Sectors | Nature of Employment Activities

Options :

(a) Nature of social activities

(b) Nature of political activities

(c¢) Nature of production activities
(d) Nature of government activities

Choose the odd one out from the following options regarding the sectors
of economy :

(a) Pilot, Driver, Gardener

(b) Fisherman, Teacher, Lawyer

(c¢) Engineer, Professor, Farmer

(d) Doctor, Teacher, Lawyer

The World Bank’s development report is prepared on the basis of which
of the following :

(a) Per Capita Income

(b) Health Services

(c) Literacy

(d) Freedom
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-. =t &1 TS ATfcTeRt T SATYES ST FhITSTT 3R 3o i< 3T 7T 794 1 3|
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N EEE

T AN o AThe
BNl gohed TTH A= S % NI fova d yHa
@uen) ufa=aks | e | foemerh offwad | o e

(2017 33 Ik &A1) | G | 3T 25 a9 AT | (HDI) %1 AT
ST Sfer § Ay | 3HE AE (2021-22)

A 12,578 76.4 10.8 73

B 6,590 67.2 6.7 132

C 3,851 65.7 6.4 149

D 4,624 66.1 4.5 161

E 3,877 68.4 5.1 143

F 5,472 72.4 7.4 129
Frefarfea 7 & form w1 1 3= 9fd AR oW, S o T GHTfad o7 3R
A4 foehe e A ST FA R ¢
(@) A (b) C
() E (d) F

8. WNd W LA e JuIel § Aigaredi & faw 33% < faffeea a1 afaeam
e Torg a9 4§ Toram i ? we) faenea a1 == hifeie
(a) 1990 (b) 1984
(c) 1992 (d) 1988
9. T AMRKAIRh o H HLhR ANTHRT TR ToRIvl sl TERIaT & TR0 & TR
Hifc=r & ATt ®1 ffeifaa § @ wF-w1 39 vfeRn &1 T@ e
gftom 2 7
(a) TR AifeR o fericor § wem 2|
(b) TR Hifert 3 fufon § w2 1 avrs Tegd #d )
(c) @t Hifeaat & fafor @ 1o faaqt i em = 2
(d) IR st sipat oft oo f&di o e senr &t gfera ot €1
10. F=ffaa o @ wH - SireT w3 gafera © 7
-1 (e 7o) -1 (&)

(a) UTH ST A - IR
(b) SHATEA (FRER) - R
(c) TH Ah A - Em
(d) ¥ ST - efifem
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Read the table given below carefully and answer the question that
follow :

Data of few Countries

Country | Gross National Life Mean Years | HDI Rank
Income (GNI) | Expectancy | of Schooling in the
per capita at birth of People world
(2017 PPP) aged 25 and | (2021-22)
in US § above
A 12,578 76.4 10.8 73
B 6,590 67.2 6.7 132
C 3,851 65.7 6.4 149
D 4,624 66.1 4.5 161
E 3,877 68.4 5.1 143
F 5,472 72.4 7.4 129

Which of the following countries has high per capita income, life
expectancy at birth and high rank in human development index ?

(@ A (b) C

() E (d F

In which year the Constitution amendment providing for 33%
representation of women in the local self governance system in India was
made ? Choose the correct option :

(a) 1990 (b) 1984

(c) 1992 (d) 1988

In a democratic country the government adopts environment friendly
policies with the help of citizens and experts. Which one of the following
is a positive outcome of this process ?

(a) The government is capable of determining policies on its own.

(b) Citizens feel empowered to determine policies.

(c) Corporates protect their own interest in determining policies.

(d) Market forces also influence the government for their interests.

Which one of the following pairs is correctly matched ?

List-I (Regional Parties) List-II (Regions)
(a) Rashtriya Janta Dal - Uttar Pradesh
(b) Janta Dal (Secular) — Bihar
(c¢) Rashtriya Lok Dal — Assam
(d) BijuJanta Dal - Odisha
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11. Faffad 8 @ HH-01 TR ofiehas § T o &t forawor 1 3qe g 7
(a) 5 IR TST GLHI o o= 3fE oo
(b) TTHIOT TR ITEC TR o s 31k forawor|
(c) TRTEH, =TT 3R 81 o o= w1tk faawon)
(d) Taenfrem, sriuferent 3t =—merarferen & sfi= wifw faawon)

12. R Gl GCaAT R 991 § Hqfefd IMEH &l 4 agrar ot ® 7 fefafea 9
o I Torshed T = hiTIT -
(a) TSIl ! Al Y& W U1 TR oh STTHTT TR
(b) 5 R TSI o o= iRl Al ATSRR GHTTEd e |
(c) @t frofar I Y Ufsharneti ot heg TR & oTefiF e |
(d) TS Y T § TATH TRRT T 317y T1fch <ot |
13. = 31 Fm fou mu B| 3 arfireRem (A) 3R &R (R) §1 ST St i gfeu
IR T freheq o1 == IR
ATUHRYA (A) :  dfcorad H HA- T TR ToHTHE &9 § S-Sl THEH
T SITET 9 |
HET (R) : T - 9T} HHER o 5Igd o1& H SRt 3711k forehme 37K e
EakSIERE S

foremeT

(a) M, (A) 3 (R) T 2 3R (R), (A) F Tl = a2
(b) T, (A) 3R (R) TE & T (R), (A) T Tt e T & 2|
(¢) (A)TH T, W (R) Ted B

(d) (A) T B, W (R) &l B

14. wWY-1 &F1 AW T9-11 8 HIfSTe 3R Tt fashed 1 =@ i

-1 (@) wa-11 (ferrear)
A.  qen (i) T 3R e o Ao § 3w
B. wiaErse (i) ToRIa SR Soraeifer SR | 39
C. 3Ay® (iii) fersTeft o Sheet IR o1 § ITFM
D. #re (iv) UIMEH o Icared § 39
forepey .

A B C D
(@ @@ i) @[Gv) (i)
(b)y G (@ (i) (1v)
(¢ (v) @) (@) (i)
(@ @) @Gv) (D) (1)
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11. Which of the following is an example of horizontal power sharing in
Indian democracy ? 1
(a) Division of power between Central and State Governments.
(b) Division of power between Rural and Urban Governments.
(c¢) Division of power among Administration, Judiciary and Army.
(d) Division of power among Legislative, Executive and Judiciary.

12. How does the Indian federal structure promote balance governance across
the nation ? Choose the most suitable option from the following : 1
(a) By allowing states to exercise complete autonomy on all issues.
(b) By ensuring a division of power between centre and states.
(c) By allowing all decision making processes under the Union
Government.
(d) By giving more powers to local governments in comparison to states.

13. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option :
Assertion (A) : The French speaking community was rich in comparison
to Dutch speaking community in Belgium.

Reason (R) :  Dutch speaking community got the benefit of economic
development and education much later. 1
Options :
(a) Both, (A) and (R) are correct and (R) is the correct explanation
of (A).
(b) Both, (A) and (R) are correct but (R) is not the correct explanation
of (A).

(c¢) (A)is correct but (R) is incorrect.
(d) (A) is incorrect but (R) is correct.

14. Match Column-I with Column-II and choose the correct option : 1
Column-I (Minerals) Column-II (Features)
A. Copper (i) Used in manufacturing of steel and
paints

B. Bauxite (i1) Used in electric and electronic industries

C. Mica (iii) Used in electric cables and utensils

D. Manganese (iv) Used in aluminium production

Options :
A B C D

(@ (@) (iii) (iv) (ii)
(b) (i) (1) (iii) (iv)
() (iv) (ii) (1) (iii)
(d) (iii) (iv) (ii) (1)
I 32/4/2 Page 9 of 24 P.T.O. I
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15. o9 | & T8 THepR o Tl § BHA ! Ue=M iy

. IT IR hl T TG Tl FIA 2

o 3O Bl J&F §9 Y FAlesh SR AUHTg Tt 7 T STt 21
30 e fafdTe gy & fore ST ST 2

IEET I
(a) =4 (b) Ik
(c) I (d) U™

16. T IMeehtl Toh H&T o TR ohl TE L 18T & 511 SATAE 98M oh 39 |
ot ? o @l # gy 21 fFefofaa & @ 9 forg v i gar @ 7
(a) AT
(b) SirE Tt
(c) hrelt &t
(d) Yffrearft e

17. F=fIRed =TT i HIARATIER SFATed ISy 3R &1 foshed 1 =2
Fifer :
. fonhiar
1. S9IRE 98 o It
III. ST o T foferam oM i S Sgre Siivd
V. Tt sigaa fod st Seeft &1 T =it e

foreReq :
(@) LI IV I (b) IL IV, 13 III
(c) 1L 1, IV 3R III (d) IILIL IV 3R]

18. feu wmu fom =0 3fem ofk
fefafea fasedt & @
30 o & foar & Tm
1 IE=H IS
(a) TesATY AR
(b) SIS TR
(c) TEIEATY TR
(d) TASATY TR
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15. Identify the crop with the help of information given in the box.

This crop is a major cash crop in India.
It is cultivated mainly in the states of Karnataka and Tamil Nadu.
It is known for its aroma.

Options :
(a) Tea (b) Coftee
(c) Jute (d) Cotton

16. A researcher is examining a soil type which is formed by the weathering

of volcanic rock and is rich in minerals. Which one of the following soils
is 1t ?

(a)
(b)
(c)
(d)

Laterite soil
Alluvial soil
Black soil
Desert soil

17. Arrange the following events in the chronological order and choose the
correct option :

[.  The Treaty of Vienna

II. The beginning of Napoleonic wars

[II. Proclamation of the Prussian King William I as German Emperor
[V. Proclamation of Victor Emmanuel II as the King of Italy
Options :

(a) L UL IVandII (b) IL IV, IandIlI

(¢) IL LIV andIII (d) HLILIVandlI

18. Look at the given picture and
identify the name of the painter
of this painting from the

following options :

(a)
(b)
(c)
(d)

I 32/4/2

Rabindranath Tagore
Abanindranath Tagore

Debindranath Tagore

Satyendranath Tagore
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Q%? A
: TrefeTRaa woa hae givatfera adianfelt & fou uv= W& 18 & su™
W
1930 ¥ frAferfaa ® & forem <fia ot waifeee’ &1 7Teq foman 7 1
(a) 1. Ired (b) Hi.3N. ™
(c) TH.3TR. SRR (d) .. e
19. fafesr $e shean weo 3 wra ® oo &l o6t sigren o7 & forg e dwepfa
ST H foran 7 fmferfaa # @ we foered o1 ==m i 1
(a) WA TR 951 ol Sfdeierd sieh
(b) & T F ISR 1 foiE TR I
(c) TaA Y8 o s sl Frefed ik
(d) T TEehf o TER % foTT 01 ATEW 1 STINT FHieh
20. ek AW ! Y -3TTE(h TR T Th A=D1 Siiad IS0 FAT HHT ST & 7
FrfeTRed o @ T ST fohed o1 =2 i 1
(a) T o WM Y SIS o HROT
(b) =Tt TR A & AT o YGTE o BRI
(c) = % LT € ST o Rl
(d) IR 3R A feh STRH-JGH o HRIT

O]

Qg - d
(arfa Trg-sia TR & wyA) (4x2=8)
21. (A) ‘‘HoTeRl & fyeequl Sw % fo e T wda it 17 5
e S AT HIfSTT | 2
YT
(B) ‘‘wra Sfted i TUETT ST WA o foTT qETEEl B GES H =T
SCaT AT 21 39 U 6l AT FhifSe | 2

22. AETdl STRIeH! A fohe TR wrdwie Sfia | Afgersti i fien w se |

TR i 7 T8 HIR) 2
23. Sfie 1 TUrET o oI ATk Giarensti shi sffeent ol T8 hHifvT | 2
24. JUIH TEI&Y 8 U8 WA IUHRTET SATATHE 2ah o To1Q i Heweyul o1 ¢

g T 2

@ug -
(G-I TR o T9) (5%3 =15)
25. 1991 ® @r F g AR HAifd 7 wra # IvelwRtw i gfcr w iR TR
I ferarm ? JaTeer wfd T9 iy 3
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Note: The following question is for the Visually Impaired Candidates only

in lieu of Q. No. 18.

Who amongst the following organised the ‘Depressed Class Association’

in 1930 ? 1
(a) B.L. Yadav (b) C.R.Das
(c) M.R. Jayeker (d) B.R. Ambedkar

19. How did the British East India Company use Print Culture to promote its
interests in India ? Choose the correct option from the following : 1
(a) By censoring the Indian newspapers
(b) By funding the regional language newspapers
(c) By encouraging the development of independent Press
(d) By using print media to spread eastern culture

20. Why was the silk route considered a good example of vibrant pre-modern
trade ? Choose the most appropriate option from the following : 1
(a) Due to movement of silk cargoes
(b) Due to flow of silver and gold
(c¢) Due to linkage of China with Australia
(d) Due to trade and cultural exchange

SECTION - B
(Very Short Answer Type Questions) 4x2=38)
21. (A) “Planning is the widely accepted strategy for judicious use of
resources.” Explain the statement. 2
OR
(B) “An equitable distribution of resources has become essential for a
sustained quality of human life.” Explain the statement. 2
22. How did the feminist movements help to enhance the role of women in
public life ? Explain. 2
23. Explain the role of public facilities for quality of life. 2
24. Why was the Indian subcontinent significant to trade networks before
European intervention ? Explain. 2
SECTION -C
(Short Answer Type Questions) (5x3=15)
25. How did the trade policy implemented in 1991 stimulated the
globalization in India ? Explain with example . 3

I 32/4/2 Page 13 of 24 P.T.O. I
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26-.- (A) HiETE FHifaeTiEt gRT THT Tehat 61 9a=T 981 S & g 331U e

HeHi ST U HIfSTT | 3
T
(B) 37 Ui swrent 1 avia i fSeeie sTesh | UyaTdt aama & 38
# Jnrem fem 3
27. WRA U $ F ATMERE SHH % I SR gRT fohT TTu 3umEt st v whifsu) 3
28. AreRas | former sht yfirent i wum Fhifsu| 3
29. WRA H 3T ok ol Sgrat &+ § TRt iR st sffient i Ta@ whifsu) 3
uE - |
(T -3 TR & T9) (4x5 = 20)
30. (A) TN G H TiefS 3t sfienT Sl TEAT IaTeL0N Afed it | 5
Tt
(B) Gl a1 TG WRA § ford SRR Al TR ol Tk 919 @ |
Tue TET 7 3SR Afed ST ity 5
31. (A) 'R § sEdl el sl AW I G A ok [T Faq 9O G R
TR a1 ATHERIS: BT SUeh Toh! ST 39 e shi 18 Shifg| 5
Tt
(B) “‘BH 37U WS % T o TIT ITeRT FHAISG T8 Had Toid & 8
SRR AT BT | 39h Teh! 510 361 R ot IfE i) 5
32. (A) ‘‘Arhad A I UST B ARG S < TETEl 1’1 3@ heH
3T k! Tfed AR Sesd | 5
rrat
(B) ‘‘Arha IR fowE UH WY TAd &1 39 HAH HI ITH ahl FH
=TT 38U | 5
33. (A) TTHIU AEET § SR hT fHeRT T faveisor i 5
Tt
(B) STU=ieh 3R SU=ITieh /0T & @il § 3TaL o1 fagewor shifs) 5
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26.

27.

28.

29.

30.

31.

32.

33.

(A)

(B)

Describe the steps taken by French revolutionaries to create a sense
of national unity and belonging.

OR
Describe the historical factors that contributed to the emergence of
nationalist tensions in the Balkans.

Examine the measures taken by the government to make agriculture
profitable in India.

Explain the role of opposition in democracy.

Examine the role of government policies in promoting economic growth

in India.
SECTION -D
(Long Answer Type Questions) (4x5=20)
(A) Explain the role of Gandhiji in the Non-cooperation Movement with

(B)

(A)

(B)

A)

(B)

(A)

(B)

I 32/4/2

examples.

OR
How did the Civil Disobedience Movement able to bring all
communities together in India ? Explain with examples.

“It would be beneficial to develop sustainable way to meet the
growing energy demand in India.” Support the statement by giving
suitable arguments.

OR
“We have to use a planned and sustainable manner to conserve our
minerals.” Support the statement by giving suitable arguments.

“Democracy elevates humans from the status of subject to citizen.”
Justify the statement with suitable arguments.

OR

“Democracy and Development go together.” Justify the statement
with suitable arguments.

Analyse the role of credit in rural economy.
OR

Analyse the differences between formal and informal sectors of
credit.

Page 15 of 24 P.T.O. I
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(SFE—3TTerTiE / |- 3T T9) (3x4=12)
34. fmffaa ga # ufen 3R 3o = fou 7o e & s fafaw

LRICIPRENIEE]

T ST T gt e T a% # R| RS U gERdl i et
TaTd Gt 1 e BT }1 38 Hed A1 YEe Wi vuEd off ®E gehd T
T EWI! 1 IHE 39 3ok o aft ToRd Hes d | foRet fotet ot @t
v |t sl et fStem dityg o1 e grar 21 firer uftyg & il
Tew! 1 g Bl 2| o ufteg 7 39 et @ <k @ o faum /v &
foTe g Tu e R faures qur i W) A gene & $o e off
TR o ¥ 1 T & | TeT 9ig 1 s 39 qiwg 1 TeiHiaeh T g &

T TR T I AT gemd el 6 oft em wdt §) e d§
TRUTfTeRT Bt ®1 € Y80 § R W &1 e qian 81 TRATIeRT 3R TR
T, ST 1 SRS FHattea SfafHe od § | FRaTiersht Tq@ TRt %
Tetfeh Je™ BId & | TR 78 % T 9eTieRR] i HAR hed & |

T TR o1 AT AT SAEAT AT H AR 1 3Tel T Hl Gl SIS
TN B |

34.1 U YRl SR gERId Giufa o Sfie g s W S| 1
34.2 TR fm i gEET TR ¥ fhw yer fae R 7 1
34.3 T TR shl GTEHT Alehdd i Sl deTdT adl § ¢ W hifsy) 2
35. Tfcfaa aa = ufgu it i fow T g & 3 fafge -
ThT9H & 0 &Y

IeTGdt TEt o 37 qoh, Teh Tt OLE hi qA-TEhId Wi AR o W ot
SUEM! 1 Tgd! d1eTe o 1Y ST shl oh AT A9 a1 TEHT 8 o418 ST
gend! off | T e amt 99 e 3 3 @ud & fau qgdi s | e
et T o IR aTel TS SRRl A ASEE BT o He AU ghH
TS IR H5eh! U 1 I o | ISR H AT & qOaR R heiel TG
TS Wt 99 5T TS SR H G R 9| 39 Y1 qEei J ST e
Mg fehdT TR Ww, o TR TSHITG o TS 3R §&R( o AR foem -
ST 1 TEHT & foham|
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SECTION - E
(Case-based / Source-based Questions) (3x4=12)

34. Read the following source and answer the questions that follow :

Local Self Government

The local government structure goes right up to the district level. A
few gram panchayats are grouped together to form what is usually called a
panchayat samiti or block or mandal. The members of this representative
body are elected by all the panchayat members in that area. All the
panchayat samitis or mandals in a district together constitute the zilla
(district) parishad. Most members of the zilla parishad are elected.
Members of the Lok Sabha and MLAs of that district and some other
officials of other district level bodies are also its members. Zilla parishad
chairperson is the political head of the zilla parishad.

Similarly, local government bodies exist for urban areas as well.
Municipalities are set up in towns. Big cities are constituted into
municipal corporations. Both municipalities and municipal corporations
are controlled by elected bodies consisting of people’s representatives.
Municipal chairperson is the political head of the municipality. In a
municipal corporation, such an officer is called the mayor.

This new system of local government is the largest experiment in
democracy conducted anywhere in the world.

34.1 Explain the relationship between gram panchayats and panchayat

samitis. 1
34.2 How is the structure of municipal corporation different from

municipality ? 1
34.3 How does the local government structure promote democracy ?

Examine. 2

35. Read the source given below and answer the questions that follow :

New Forms of Publication

By the end of the nineteenth century, a new visual culture was
taking shape. With the setting up of an increasing number of printing
presses, visual images could be easily reproduced in multiple copies.
Painters like Raja Ravi Varma produced images for mass circulation. Poor
wood engravers who made woodblocks set up shop near the letterpresses,
and were employed by print shops. Cheap prints and calendars, easily
available in the bazaar, could be bought even by the poor to decorate the
walls of their homes or places of work. These prints began shaping
popular ideas about modernity and tradition, religion and politics, and
society and culture.
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1870 o &M b TA-UAHIAT T TSI -TSHIfdeh fowi W fewquft
hd B hiehar 3N 1A B o 9| F5o | fRifera wrdvai <t afeerdt dremes
3R afvedt AR 1 HeiTeh ISR 7T, Safh o 3T H ISR THadH
%l et Tk S 9@ TRIT | AHETSIATa] SRt | TATiei sl Tl ST ST
o, Ot el oft reTETel T W A wned § i 91 )

35.1 TIfE qendien o foreRtd 3 399 Geehicl bl el wTfora fopam ?

35.2 TSI U 9|1 4 IR H hell & Aifeeh TGR | g JraH T ?

35.3 399 G&Hfd 4 191 yrarsdt % oFd ° @it ufigw it Wfa w1 ha
TR feam ¢ T ifsm

36. Trferiaa Hid o ufew ik 3ue = fu e yei & 3w fafae
gt Ui & e - fafe ot gefw et < wafw
TRRfdl < IS Afe AT ST foreams €, fSeeht sem wehid o6 &
&9 h1 & FT 7| 3 fovart 7 fafvm a9 &l g vd wEE w9 1S9
@ ?, T ufem Ui & e (St-gadnedi o o) @ed 81 31 99 Tl AT 9
I o AT Rl SAT AT ST ST BiS faam o & e s96 fohet oft SRR 1
T e fed 2|

FS GUS O ToRIY UST 1 I Fid & TR SATfeehtel ¥ IhT TL0T hd
A T@ | BEATTR &7 § ST 3R T STl HgTl 3R adl o Ui
ST A & | ST 37 forgm <t SRt et o SR 3Hel o7 o7 & U
1 IS L] & | B | 9ga § AT d9e 7R Jege Sl ufad Ad &

WA GHTS H 3Tl TER(AT & IR T H&hid H Wepld TR 3&eh!
Ffcrl Rl T FE F AU IRIRER qlieh 8| HIR T I, eIt =i,
U] TR U ol U AR 3TehT TREU fohdT ST | 3719 e Al &
T Fe R A | IUEek I Raera-fuerd € ofit Afew & wwhi §
fira 21 T 1 fagarg Tiiet o eI 3 et fewon, e, e o
AR % g @ TRd & S T8T o TSR k1 AT e € 3R IS e JohaH
EREEIGI
36.1 ufers a4, SAreaTfciehar 3T uTifedrfaeht o ST Heer ol 8 g91id & ¢
36.2 SHSITTET shl GATT S &I sl Sl STgral ol & ¢

36.3 I (19 G0 &H Fefh foTq Aewaqul I § 7 ST shifsry|

I 32/4/2 Page 18 of 24



E3
2

By the 1870s, caricatures and cartoons were being published in
journals and newspapers, commenting on social and political issues. Some
caricatures ridiculed the educated Indians’ fascination with Western tastes
and clothes, while others expressed the fear of social change. There were
imperial caricatures lampooning nationalists, as well as nationalist
cartoons criticising imperial rule.

35.1 How did the development of printing technology impact visual
culture ? 1

35.2 How did Raja Ravi Varma contribute to the mass circulation of art
in India ? 1
35.3 How did visual culture shape the memory of the 19" century social
landscape ? Explain. 2

36. Read the given source and answer the questions that follow :

Sacred Groves — a wealth of diverse and rare species
Nature worship is an age old tribal belief based on the premise that
all creations of nature have to be protected. Such beliefs have preserved
several virgin forests in pristine form called Sacred Groves (the forests of
God and Goddesses). These patches of forest or parts of large forests have
been left untouched by the local people and any interference with them is
banned.

Certain societies revere a particular tree which they have preserved
from time immemorial. The Mundas and the Santhal of Chota Nagpur
region worship mahua (Bassia latifolia) and kadamba (Anthocaphalus
cadamba) trees, and the tribals of Odisha and Bihar worship the tamarind
(Tamarindus indica) and mango (Mangifera indica) trees during
weddings. To many of us, peepal and banyan trees are considered sacred.

Indian society comprises several cultures, each with its own set of
traditional methods of conserving nature and its creations. Sacred qualities
are often ascribed to springs, mountain peaks, plants and animals which
are closely protected. You will find troops of macaques and langurs
around many temples. They are fed daily and treated as a part of temple
devotees. In and around Bishnoi villages in Rajasthan, herds of blackbuck
(chinkara), nilgai and peacocks can be seen as an integral part of the
community and nobody harms them.

36.1 How do sacred groves show the inter-connectivity of spirituality
and ecology ?

36.2 How do tribal practices promote conservation of forests ? 1
36.3 Why is conservation of wildlife important for all of us ? Explain. 2
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37. (i) U U vma & TeHifde [WT-THfE WS T (A) R (B) F &9 d
ifera fert mmu 8| frmferftad STeRr o gemdar @ 3= qe=iT 3K 396
e T 37 Ty Wi 78 W@nen W fafan
(a) o8 TAM SRT IR TR " T AT 1927 § g1
(b) TT TAM &l TiefSh 5 THeh ST are|
e : FrafeRaa yw Faa gieanfim whenfdat & o ww= @@= 373) &
TIH W )
(a) 39 TIH 1 W TTRgu sref vt T e o1 AfeeyE 1927 °
=l
(b) %Fwwm%f\@ﬁaﬁﬁ%ﬁﬁﬁwchw@ qaret|
37. (i) WA % 3} T Tar-amtea W fefafed 3 @ feee € =i 3o
gl @ enizd oiit 3 AW ferfta
(a) =TS & IR S T I S|
(b) I IS TEI Tk TRATY] el G|
(c) e TEd Teh THE TTTea?R STalfiehl Teh |
(d) ofifeen feoa s yq@ awgt aaq|

e : FrafaRea we e givanfam wftenfef=i & oo wwa ww=m 37(0) &
T W
(a) 39 T 1 W TR et == re 76 W v @ sy e B
(b) 3 TJH 1 W TARIT ST IT I | Teh THI FHsll G971 F84a 2|
(c) 39 T 1 W AU &l Flesh § Toh TH@ Adeal Srafiehl
uTeh feora 2|
(d) 39 TW &1 AW fafae et sfifesn # v yq@ e 7o o 2|
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37. (i)

SECTION - F

(Map Skill Based Question) 2+3=95)

Two places (A) and (B) have been marked on the given political
outline map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near
them :

(a) The place where the Session of Indian National Congress was
held in 1927.

(b) The place where Gandhiji broke the Salt Law.

Note : The following questions are for the Visually Impaired Candidates
only in lieu of Q. No. 37(i).

37. (i)

(a) Name the place where the Session of Indian National Congress
was held in 1927.

(b) Name the place where Gandhiji broke the Salt Law.

On the same political outline map of India, locate and label
any three of the following with suitable symbols :

(a) A major dam on the Chenab river.

(b) Nuclear Power Plant located in Uttar Pradesh.

(c) A major Software Technology Park located in Karnataka.
(d) A major Sea Port located in Odisha.

Note: The following questions are for the Visually Impaired Candidates
only in lieu of Q. No. 37(ii).

I 32/4/2

Attempt any three questions :

(a) Name the place where the major dam is located on the Chenab
river.

(b) Name the place where Nuclear Power Plant is located in
Uttar Pradesh.

(c) Name the place where a major Software Technology Park is
located in Karnataka.

(d) Name the place where a major Sea Port is located in Odisha.

S Gy
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